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Mark the letter A, B, C or D on your answer sheet to indicate the sentence that best completes each of
the following exchanges.

Question 1: - Tom: “I have bought you a toy. Happy birthday to you!” -John:*___ ”
A. Have a nice day! B. The same to you!

C. What a lovely toy! Thanks. D. What a pity!

Question 2: - Hoang: “How often do the buses run?” - Nam: “ ”

A. Every hour. B. In the moming.

C. From that bus stop over there. D. Yes, of course.

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following
questions.

Question 3: Each nation has its own way of the new year.

A. celebrating B. celebrate C. celebration D. celebrations
Question 4: Mount Everest is mountain in the world.

A. the most high B. the highest C. the more high D. the higher
Question 5: Who was the first person the South Pole?

A. reached B. to reach C. reaching D. to reaching
Question 6: My brother is making cake for my birthday.

A. an B. the C. 9 (no article) D.a

Question 7: Don't go too fast! I can't up with you.

A. go B. walk C.run D. keep
Question 8: The theory of relativity by Einstein, who was a famous physicist.

A. was developed B. was developing  C. develops D. has developed
Question 9: It is very dangerous. We couldn’t risk him alone.

A. to leaving B. to leave C. leave D. leaving
Question 10: John drives anew cartowork, _ ?

A. does he B. doesn’t he C. did he D. will he
Question 11: An can tell people their future by reading their constellation.

A. astrologer B. astronaut C. astronomer D. archeologist
Question 12: When I last saw Lucy, she hard preparing for her final exams.
A. was working B. worked C. is working D. has worked
Question 13: 1 very well with my roommate now; we never have any arguments.
A. goon B. carry on C. geton D. put on
Question 14: I’ll send her your message .

A. as soon as she had showed up B. as soon as she shows up

C. as soon as she showed up D. as soon as she will show up

Question 15: In my company, the director deputy usually the responsibility for organizing
meetings and conferences.

A. gets B. takes C. makes D. becomes
Question 16: Mrs. Brown had her bicycle yesterday.

A. repairing B. repair C. repaired D. be repaired
Question 17: I usually buy my clothes . It’s cheaper than going to the dressmaker.
A. off the peg B. in public C. on the house D. on the shelf
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Mark the letter A, B, C, or D on your answer sheet to indicate the word'whose undérlined part differs
from the other three in pronunciation in each of the following questions. '

Question 18: A. career B. cactus C. carrot D. cyclone
Question 19: A. like B. hide C. pick D. find

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three
in the position of stress in each of the following questions.

Question 20: A. volunteer B. accountant C. decision D. advantage

Question 21: A. apply B. shadow C. advise D. contain

Mark the letter A, B, C, or D on your answer sheet to indicate the word CLOSEST in meaning to the
underlined word in each of the following questions.

Question 22: 1 keep meaning to write to my parents but I'm so busy nowadays that I can’t seem to find the
time to do it.

A. keep up with B. get round to C. put down to D. make up for
Question 23: Nylon is a man-made fibre, the use of which has helped more people to have cheaper and
more colourful clothes to wear.

A. natural B. plastic C. fake D. artificial

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the

underlined word(s) in each of the following questions.
Question 24: | don't like that man. There is a sneaky look on his face.

A. honest B. humorous C. furious D. guilty
Question 25: Tom may get into hot water when driving at full speed after drinking wine.
A. stay safe B. get into trouble  C. enter dispute D. keep calm

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct
word or phrase that best fits each of the numbered blanks from 26 to 30.
In Germany, it's important to be serious in a work situation. They don't mix work and play so you

shouldn’t make jokes (26) you do in the UK and USA when
you first meet people. They work in a very organized way and prefer to do one thing at a time. They
don't like- interruptions or (27) changes of schedule.

Punctuality is very important so you should arrive on time for appointments. At meeting, it's
important to follow the agenda and not interrupt the other speaker. If you give a presentation, you should

focus (28) facts and technical information and (29) quality of your company's products.
You should also prepare well, as they may ask a lot of questions. Colleagues normally use the family
names, and title - for example 'Doctor' or 'Professor’, so you shouldn't use first names (30) a
person asks you to. =
Question 26: A. while B. as if C. such as D. as

Question 27: A. sudden B. suddenly C. abruptly D. promptly

Question 28: A. to B. in C. at D. on

Question 29: A. @ (no article) B. the C.a D. an

Question 30: A. if only B. as C. unless D. since

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct
answer to each of the questions from 31 to 35.

In a world with increasing levels of carbon in the atmosphere, these new findings imply that warmer
weather and longer growing seasons will not allow temperate deciduous trees to take up more carbon
dioxide. The study’s predictive model suggests that by 2100, when tree growing seasons are expected to be
between 22 and 34 days longer, leaves will fall from trees between three and six days earlier than they do
now.

This has significant implications for.climate change modelling. If we accept that the amount of carbon
taken up by deciduous trees in temperature countries like the UK will remain the same each year regardless
of the growing season, carbon dioxide levels will rise more quickly than was previously expected. The only
way to change this will be to increase the capacity of trees to absorb carbon.

Plants that aren’t limited by the amount of nitrogen available may be able to grow for longer in the
warming climate. These are the trees which can take nitrogen from the air, such as alder. But these species
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will still lose their leaves at roughly the same time as always, thanks to less daylight and colder
temperatures. But on the upside, with the prospect of some trees losing their leaves earlier and others losing
them at the time they do now. there might be the prospect of prolonged autumnal colours — and more time
for us to kick through the leaves.

(Adapted from https://theconversation.com/)
Question 31: Which of the following can be the best title for the passage?

A. Autumn and Growing Seasons B. Nitrogen From the Air

C. Earlier Autumn Colours D. Growing Season in the UK
Question 32: The word they in paragraph 1 refers to

A. leaves B. six days C. growing seasons D. trees

Question 33: According to the passage, carbon and carbon dioxide in the atmosphere
A. cannot be taken up more by temperate deciduous trees

B. will rise more slowly than was previously expected

C. has been decreasing in the world

D. cannot be absorbed by increasing the capacity of trees

Question 34: The word prospect in paragraph 3 is closest in meaning to g

A. revolution B. responsibility C. relation D. possibility

Question 35: Which of the following is NOT TRUE according to the passage?

A. Some trees will lose leaves at the time they do now.

B. Plants may grow for longer in the warming climate.

C. Tree growing seasons may be 22 to 34 days longer.

D. Alder will never lose their leaves.

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct
answer to each of the questions from 36 to 42.

Of the six outer planets, Mars, commonly called the red planet, is the closest to Earth. Mars, 4,200 miles in
diameter and 55 percent of the size of Earth, is 34,600,000 miles from Earth, and 141,000,000 miles from the
Sun. It takes this planet, along with its two moons, Phobos and Deimos, 1.88 years to circle the Sun, compared
to 365 days for the Earth.

For many years, Mars had been thought of as the planet with the man-made canals, supposedly discovered
by an Italian astronomer, Schiaparelli, in 1877. With the United States spacecraft Viking I's landing on Mars in
1976, the man-made canal theory was proven to be only a myth.

Viking I, after landing on the soil of Mars, performed many scientific experiments and took numerous
pictures. The pictures showed that the red color of the planet is due to the reddish, rocky Martian soil. No
biological life was found, though it had been speculated by many scientists. The Viking also monitored many
weather changes including violent dust storms. Some water vapor, polar ice, and permafrost (frost below the
surface) were found, indicating that at one time there were significant quantities of water on this distant planet.
Evidence collected by the spacecraft shows some present volcanic action, though the volcanoes are believed to
be dormant, if not extinct.

Question 36: What is the main idea of this passage?

A. Fairly recent studies of this planet reveal data that contradict previously held theories.
B. Very little of the Martian landscape has changed over the years.

C. Scientists are only speculating about the Red Planet.

D. Scientists are no longer interested in the planet because there is no life on it.
Question 37: Mars has been nicknamed .

A. Viking I B. The red planet C. Martian D. Deimos
Question 38: The word myth in paragraph 2 is closest in meaning to

A. fact B. event C. legend D. enigma
Question 39: The word monitored in paragraph 3 is closest in meaning to
A. observed B. censored C. televised D. programmed
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Question 40: All of the following are true EXCEPT . .
A. It takes longer for Mars to circle the Sun than it takes Earth

B. Mars has two moons

C. Martian soil is rocky

D. Mars is lager than Earth

Question 41: Man-made canals were supposedly discovered by ;

A. Schiaparelli B. Phobos C. Viking | D. Martian
Question 42: It can be inferred from the passage that the radius of Mars is .
A. 141,000,000 miles  B. 34,600,000 miles C. 4,200 miles D. 2,100 miles

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair
of sentences in the following questions.

Question 43: He doesn’t have enough experience for the job. The boss cannot hire him.

A. If he had enough experience for the job, the boss could hire him.

B. If the boss could hire him, he would have enough experience.

C. The boss could have hired him if he had had enough experience.

D. He could have had enough experience if the boss had hired him.

Question 44: The train arrived at the station. Shortly after that the passengers rushed towards it.

A. Hardly had the passengers rushed towards the train when it arrived at the station.

B. Scarcely had the passengers rushed towards the train when it arrived at the station.

C. No sooner had the train arrived at the station than the passengers rushed towards it.

D. Not until the passengers rushed towards the train did it arrive at the station.

Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction
in each of the following questions.

Question 45: Stress, that is a psychological problem, may lead to physical illness.

A. that B. may C. Stress D. physical illness

Question 46: Earning money has always been the thing that pleases him most. The richest he becomes, the
happier he is.

A. Eamning . B. richest C. happier " D.has always been
Question 47: She has disappeared three days ago, and they are still looking for her now.
A. and B. are still C. has disappeared D. for her

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to
each of the following questions. )

Question 48: The last time I met him was two months ago.

A. I didn’t meet him for two months.

B. I have met him for two months.

C. I haven’t met him for two months.

D. I started meeting him two months ago.

Question 49: It’s very likely that the company will accept his application.
A. The company needs to accept his application.

B. The company must accept his application.

C. The company should accept his application.

D. The company might accept his application.

Question 50: “Where does your father work?,” the teacher asked me.

A. The teacher asked me where your father worked.

B. The teacher asked me where my father worked.

C. The teacher asked me where did my father work.

D. The teacher asked me where did your father work.
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